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QUESTION 1

Which is an example of an NCPI management system data point?
A. Monitoring of network traffic

B. Mislabeling of kirk-key interlock

C. Advanced warning of UPS battery deficiency

D. Reading of boiler room steam pressure levels

Correct Answer: C

QUESTION 2

What is the correct order of the refrigeration cycle datacenter precision cooling?
A. Condensation > evaporation > expansion > compression

B. Compression > condensation > evaporation > expansion

C. Evaporation > expansion > condensation > compression

D. Evaporation > compression > condensation > expansion

Correct Answer: D

QUESTION 3

What function do patch panels serve in a data center?

A. They convert Internet protocols (IP).

B. They convert copper signals into fiber optic light signals.

C. They serve as a demarcation point where ends of bulk cable converge.

D. They improve the data cable signal capacity from 100 Base-T to 10 Gigabyte Ethernet.

Correct Answer: C

QUESTION 4
What is the major weakness of a bar code card system?
A. The cards are expensive.

B. The cards interfere with RFID systems.
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C. It is relatively easy to duplicate the cards.
D. Running a magnet next to a card reader will disrupt the accuracy of the reader.

Correct Answer: C

QUESTION 5

How do enclosures improve rack system cooling?

A. By improving natural air flow

B. By improving fire suppression

C. By allowing hot and cold air to mix together

D. By preventing hot and cold air from mixing together

Correct Answer: D

QUESTION 6

What are three transformer types? (Choose three.)
A. Step-up transformer

B. Isolation transformer

C. Step-down transformer

D. Delayed input transformer

E. Limited induction transformer

Correct Answer: ABC

QUESTION 7

Which two would be used for biometric access control? (Choose two.)
A. Voice

B. Fingerprint

C. Smart cards

D. Personal identification number

Correct Answer: AB
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QUESTION 8

To maximize the effectiveness of data center supply air distribution, where should perforated tiles in a raised floor
environment be placed?

A. In the hot aisle only

B. In the cold aisle only

C. In equal amounts in both hot and cold aisles

D. Primarily in the hot aisle with some on the perimeter of room

Correct Answer: B

QUESTION 9

What are three benefits of Inergen? (Choose three.)
A. It is non-conductive.

B. It has zero ozone depletion potential.

C. It has a low pressure delivery system.

D. It requires less storage tanks than Halon.

E. It is safe to discharge in an occupied area.

Correct Answer:. ABE

QUESTION 10

What are three characteristics that a data center manager should look for when selecting a clean agent suppression
system? (Choose three.)

A. Pre-action valve

B. Non-conductive agent

C. Minimal storage footprint

D. Zero ozone depletion potential
E. Manual operation requirement

Correct Answer: BCD

QUESTION 11

What describes the ratio of watts to volt-amps?
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A. Frequency

B. Power factor

C. Actual power
D. Apparent power

Correct Answer: B

QUESTION 12

Which two types of cables would you expect to see used in a network backbone?(Choose two.)

A. Power cables

B. Fiber optic cables

C. Category 5/5e/6a cables
D. Audio / video cables

Correct Answer: BC

QUESTION 13

Which two does the network-critical physical infrastructure (NCPI) management system monitor at the rack level?

(Choose two.)

A. The monitoring of a chiller at the rack level.

B. The monitoring of comfort cooling at the rack level.

C. The monitoring of supplemental cooling devices at the rack level.
D. The monitoring of rack based transfer switches at the rack level.

Correct Answer: CD

QUESTION 14

Which method transfers heat through the movement of a liquid or gas?
A. Radiation

B. Convection

C. Conduction

D. Evaporation
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Correct Answer: B

QUESTION 15

Which risk is minimized when data center managers deploy network-critical physical infrastructure (NCPI) solutions?
A. Downtime caused by power interruptions.

B. Downtime caused by high speed storage.

C. Downtime caused by poorly trained computer operators.

D. Downtime caused by improper operational process documentation.

Correct Answer: A
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